Mathematlcs Paper X {01) (19)
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Time Allowed: 20 Minutes  SECTION-A | Marks : 15
1 HOF of (a- bt and (a-bis....... (a=h @ :-vp O@-b  Of-by
- : : : S —
2 |nAABC, if ZA= /B, the bisector N o .
........ divides the AABC intotwo () ZA Os @« O Q;‘;’lgge ofits
- congruent triangles. . . o s ‘
?T_ | The pomt (3 —5) s locatedin ' | : o
© quadrantis.. _ O v O . O I . , O!

-

4 ,"The coordinate of the midpoints of the ‘ : S
segment joining the points (8, — 5) O (2,3) O‘(3, 2) : O (5,4) =« O (4, 5)
~and (~2 9) are....... ~ S ‘ : '

5 Thearea of a triangle with base

-1—§ cm and altitude g-cm will be...... O 2em? : O 30m2_ O 4.350m2 , O Gom?
/ 6 Atriangle having all the three sides . ' N o | .
* are differentin length i....... Q Fquilateral O Isosceles ® Scaieqe o (O Right
7 Aline which is perpendicular to afine .z~ Perpendicular L . L
segment at its mid point is called..... ® bisector O Angle bisactor O Altitude O Median ,

8 - Inaclass with 32 students, the ratio o
~ of girls to boys is 5 to 3. How many O 2 O 8 . ' O 12 O
more gitls are there than boys? : T -

’ [fg ‘21}: ..... o @ -1 Q-1 O - Ow
10 VA %V = e el - O @1 . Ot

11 2(3 +4) = 2x3+2x4 this property is.... () Com}npfative (O Associative Distributive () Closure

2 The istic of log 0.435is...... : ~ ' T S '
12 The characterls c oflog is OQ | 1 017 | | O2 |
13 Factorof x2+ 2x~24 is..... - ‘ 'O;{ui,x_s _OX—4»X+5 ’ ‘@Hg,x_a -O“S-*j’&
714 logbm"tln exponential equatlon is b - ! . ‘1 , e -
 equalto...... Ot=m iOb"‘-t @mfb . O,m‘.—b

15 The solution set of +/x ==10is ...... Q{-&O} o O 40 | () {100} Oty |
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Note: Time aliowed for Section B and Section —G is 2 Hours and 40 minutes o ' : ",—./' -
o Section-B | - , l?‘drks: 36
Q-ll Attempt any NINE parts. Each part carries FOUR, marks : I
- 20 1 1] e .
1. K A B = IFind A” and B e : : '
L5 el S | /
2. /SolVe the equatlon X- 2y- ~-1=0, 2x + 3y + 3 o wnth the help of matnces

S
B

‘ 5 a3 A3 _
5 Prove that [4 642 )2 =2

4 Solve 3.81 x 43.4 with the help of loganthm i

5 Find the values of a2 + b2 and ab, when a + b 5a-b=2
6. Factorize x* + x — 12 '

7 Factorize 18(x — y) ~ 144(a - b)® ' _

8 Find the square root of x* + 4x° + 6x° + 4x +1

9

fx=56-26. Find the values of x«% and x* + i

- X

10. . .Solve 2x + 3 = '1—-6(x-1) '

1. 'Solve for x, 4[5 ~ 2|+ 3=11 |

12,7 HCF=x-2,LCM=x>+3x*<6x~8, A= x* + 2x ~ 8, Find B.

Section—C B Marks: 24
- Note : Attempt any THREE questions. All questions ¢arry equal marks.

Q-1 Prove that A (-4,-3),B(1,4)and C (8, 11) are collinear:-

Q-IV  If two angles of a triangle are congruent, than the sides opposne to those ang!es are (‘ongruent
Q-V  The blsectors of the angles of a triangle are concurrent. -
Q-VI Construct a APQR, draw their altitude and verify their concurrency, when mPQ- ch

. mZP=70° ahd m£LQ= 65° Also write the steps of construction.



